stress test

1.

ohe % A4 AL oA W3 B sk (2,
a#%0,b£0)

D a* xa' xa @ a'8 + a2
® (a®)® +aS @ (a3h2)% + (b%)?
® (a3)3

& o & 55t 712 BA0] thatel 59
2 2o} AZ Aotk olm) EANEDL W
o

£A) g [ ] ol Boi2 48 2E HE @2
T-stofzt,
3z —{y— (Ty —62)} =3z — (y — Ty + 62)

= 3z — (6x — Dy)

= 3x — 6x —i—Dy

=L b+l b

Mz 10, A7 12, 94 115, B2 20, F=
23

3. T FollA o1& B otk

QD 2z +2%2-3
32 1
© - +-+4
T T
1 1
®© §$2+3l‘+1
@ 5(9:2+1)

© 2(a*+3a) — (2a* — a)

@ (z+2y)? = 2% + dzy + 49°

® (z—5y)? = 22 — 102y + 25y




7.

@ 2> +2°=0
@ a?xadxagt=2a8
® (3y2)! = 2120
3
@ v\ y°
24/ T g2

® (z4)? x (2)? = 21°

(a%b — a?) + a — 2(ab® + 6b%) + b 5 73] WL uf,
abﬂ 7‘{'_/[\‘%.1',@-4 ﬂ]TﬂyE]'Q'U’_H, 3$—yﬂ

e Fetela,

ohe Fol A BASIRE wel WAl (—x + ) B
Ze e

O (z—y)? @ (z+y)?

® —(z—y)? @ —(z+y)?

® (—z—y)?
o3 "2 7129 Zol7t 3a2b , =017t 4ab Q1 A5
HAo|t}, o] YA LG o] Bul7t 942p° L W] A2
Aol otu?

_o--8ab--__
i \élab
2 s % 4a 3b

Oy @3, O3 @5 O4

A2l &= a 2F SHA} olw, [8al &f BH27
15 11 1
— — 11 1 =
@ S ) S ® @1 O S
11. 08 278 W2 U, 44 A4, B, €. D, F 9| 7ol
obd 2127
Q@ 4(2?—3z)— (322 —6x+7) = Ax®>+Bx—T
202 —~3x+1 22-2x+3
© 2 B 3 B
Caz?>+ Dz + E
6
©A=1 @ B=-6 ® Cc=1
@ D=-5 ® E=3
12. o2 Al F &2 A2 25 =97
® —(a—5b) =a+5b
@ —2(-3z+y) =322 -2y

® 22(3z — 6) = 622 — 6z
@ 3x(2z — 3y) — 2y(z +y) = 622 — 1lzy — 29>

® —z(r—y+2)+3yr+y+4) =
—2? + Ty — 27 + 3y + 12y




13. o5 B7] F o|apd]2 5 9 7 Q171
a1
H7]

Q@ 422 -5z
© z(4z —4) +2 — 42?2
1
@ ﬁ—x
@ (2—4dx+32%) —2(2% —4x+1)

1 1
@ <§z2+4x— 1) - <—1 —dx — ng)

® 17 @ 2 7 @ 370
@ 47 ® 571
14. o3 A&

15. (az—2)(7z+b) & FAT Alo] ca? + 10z - 16 4 o,
A5 a,b,c ol A5t a+ b+ ¢ O] FHS ol

16. 84 24 olg3to] (v + 3)(x +a) S AN o]
22 + b — 12 o|tk. o]u] 44 a, b o] gL Fateler.

@ 230 @ 320

@ 415

@ 5% ® 9

18. 2 =527 +4+1, y=284+14 0 zy & YHHOZ

ebd o) @ Ao o]

® 2472 9] 4=
® 26742) 9] 4=
® 2842} 9] 4=

=171

@ 25742 9 %
@ 27248 9] %

1
B @aype oy = a2, ey =1, 2¥5 (a2t = -
S WEF Y, a+b-c O FS Totode}
20. _162%3x  |eswy? = —dadyP oA ot
of argre. Aley
O —2zy? @ 2xy? @ —2z%y
@ 222y ® —2zy
2
21. l’;y+m+3y_ax+by H:H, %\_a b__,] 01a+b
o] 7
41 e 43 11 5
Ok @5 @5 @35 94




22. 4 2 1
<ffxy3) X day <+ 4aPyd = & o of, p+q 9] 7+&
3 92

Fatelet.

23. a#0, b#£00°]2 z,y 7} A+ wff,oo-¥)pv—2) -
4

b)) & 7hks] stolat. (T, o > y)

@ 2 @ %
b2$ a\ 2x—2y
© = @ (3)
b 2x4-2y
® (3)
a
24. A=z(2z+1), B= (823 +22% - 6x) + (—22), C =

(=2
(22%y?)? + (22%y°)? olth. A= 2B — {A+ (B + C)}]
£ s Stde W 4 & At A de
T-5H?

® 10 @ 11 ® 12 @ 13 ® 14

25. 1234 o] Sho —1=
43212 — 4320 x 4322 ol &= Fstelet




